36 2 B
4 12 1
2
A B
C
H H H H H H
()
3 3 3 IT
1 IT 1,252 27 | 1,003
129,957 | 110,268 | 52,440
43319.0 | 36756.0 | 17480.0
24 24 19
IT
IT
2 IT 160 | 186 | 137
5,000 | 5,000 | 5,000
208.3 | 208.3 | 263.2
2 3
3 T 56 | 65
3,612 | 4,102
1806.0 | 1367.3
IT
4 24,187
8062.3
12
257
5 14,797
1233.1




B-1 B-2 B-3

I
B-1 B-2 B-3
1,000
BPO
IT
4
IT IT
IT
IT
4
IT
4
IT
4
4




()
1 0 1 IT
6 IT
200,000 0 100,000

200000.0 0.0 100000.0
7
8
9
10

| 334,957| 118,880| 200,526 | |




B-1

B-2

B-3




36

4 12
2
300
250
TR
200 i
o-B
190 242 o-=8
150 [m-i -y g
100 | —a— 1
H13 | Hia | H15 | H16 | HI7
50 (| --o-
149 | 149 | 147 | 148 | 152 | 144 | 144 | 137
156 | 164 | 171 | 178 | 184 | 190 0
C C B C C
B
IT
( H9 H22 +4.9%







